[Effici

ency vs vertpos |

- 05
20.45

g
2 04

(8]
§0.35
Q
£ 03

Efficiend

10

1

10 0?
TP vertr (cr%)

—=— DQM_mkFit_XiMinusPU_retrain2
—— DQM_mkFit_XiMinusPUold

~ 0.1

$0.09
(2]
>0.08
>
2
§0.07
o
£0.06
(]
0.05
0.04
0.03
0.02

0.0

Vs

........................
........................

........................

.......................

.......................

.......................

Ratio

[y

0.95!

0

[Effici

ency vs. sim PV z

N 0.2
>
2.0.18
£
50.16
20.14
>

20.12

efticie

0.08
0.06)

0.1

10 20 30
TP vert z (cm)

T

17273747
Sim. PV z (cm)




	Contents
	Page 1


